LAW SCHOOL COUNCIL RSO Funding Allocation Report

Meeting Date: 1/8/2023 Meeting Time: Email Meeting Location: -

LSC Members Present: Samantha Seiglie, Sarai Glaze, Keeley Smith, Cristen Chandler, Cara Campbell, Leila Oberschall, Briana Bedoya, Emma Wells

Name of RSO	Event Information (Date, Location) Just the EVENT name	Food	Clothing/ Apparel	Contractual services	Travel	Expenses (i.e. Decorations, meeting space)	Total
Trial Team	Trial Team Spring Try- Outs! January 23, 25, and 27 at 6-9 pm On Campus Advocacy Center Rooms	\$608.84					\$608.84
Entertain- ment, Art, and Sports Law Society	Tulane Professional Football Negotiation					\$800	\$800

	Competition Registrations 2/3/23-2/4/23 Off Campus				
Entertain- ment, Art, and Sports Law Society	Tulane Professional Basketball Negotiation Competition Registrations 2/23/23- 2/24/23 Off Campus			\$825	\$825
Trafficking in America Task Force	Trafficking Awareness Month Panel 1/30/23 at 12:30-1:30 pm On Campus Law School Rotunda	\$328.42			\$328.42
Total					\$2,562.26

Meeting Minutes

Organization: Trial Team

Date/time of event: January 23, 25, and 27 **Amount requested:** \$608.84

Publix (\$96.96)

- Buttercream Iced Cupcakes (\$7.99)
- Publix Deli Italian Ringleader (\$19.99)
- Publix Deli Cubanitos Platter, medium (\$32.99)
- Publix Deli Veggie Sub Platter, Medium (\$35.99)

Moe's (\$260)

- Taco Bar Bundle (20 at \$13 a piece) (\$260)

4 Rivers Smokehouse (\$251.88)

- Smokehouse 3x3 (12 at \$20.99 a piece) (\$251.88)

Purpose of funds: Trial Team Spring Try-Outs

Spring Try-Outs are the main recruiting opportunity for the FSU Trial Team. The week of try-out consists of three days of law students giving their prepared opening and closing statements and being judged by a jury panel. The try-outs are open to all FSU law students and provide an unparallel opportunity for "practice and pitch." The law students who try out familiarize themselves with a competition packet, prepare both sides of the case, and present their statements. The Spring Try-Outs are a fundamental part of the trial team with the next group of competition litigators.

		Samantha Seiglie	Sarai Glaze	Keeley Smith	Cristen Chandler	Cara Campbell	Leila Oberschall	Briana Bedoya	Emma Wells
V	ote	YES	YES	YES	YES	YES	YES	YES	YES

VOTE: YES

Organization: Entertainment, Art, and Sports Law Society

Date/time of event: 2/3/23-2/4/23 Amount requested: \$800

Purpose of funds: Tulane Professional Football Negotiation Competition

Conference Registration (2 at \$400 a piece) (\$800)

	Samantha Seiglie	Sarai Glaze	Keeley Smith	Cristen Chandler	Cara Campbell	Leila Oberschall	Briana Bedoya	Emma Wells
Vote	YES	YES	YES	YES	YES	YES	YES	YES

VOTE: YES

Organization: Entertainment, Art, and Sports Law Society

Date/time of event: 2/23/23-2/24/23 Amount requested: \$825

Purpose of funds: Tulane Professional Basketball Negotiation Competition

Conference Registration (2 at \$412.5 a piece) (\$825)

	Samantha Seiglie	Sarai Glaze	Keeley Smith	Cristen Chandler	Cara Campbell	Leila Oberschall	Briana Bedoya	Emma Wells
Vote	YES	YES	YES	YES	YES	YES	YES	YES

VOTE: YES

Organization: Trafficking in America Task Force

Date/time of event: 1/30/23 at 12:30 - 1:30 pm **Amount requested:** \$328.42

Publix (\$312.94)

- Publix Deli Wrap variety, large (\$62.99)
- Boar's Head Sub Selections, Large (\$69.99)
- Assorted Cookie Platter W/ Icing Large (\$29.99)
- Publix Deli Garden Fresh Vegetable Platter (\$34.99)
- Publix Deli Fresh Fruit Platter (\$44.99)
- Boar's Head Sub Selections (\$69.99)

Publix (\$15.48)

- Unsweetened tea (\$3.87)
- Old Fashioned Lemonade (2 at \$3.87 a piece) (\$7.74)
- Sweet Iced Tea (\$3.87)

Purpose of funds: Trafficking Awareness Month Panel

There will be a panelists of experts in the field of human trafficking who will answer prepared questions and q&a style questions at the end. Food will be served and an rsvp will be required (capped at 25 people). Panelists will be assistant state attorney Lorena Bueno, former federal prosecutor Michelle Spaven, and professor Terry Coonan. Opening remarks will be done by Daynicq Hartley or Professor Anino. The content will cover prosecution of traffickers, aiding the victims and survivors, and industry practices.

	Samantha Seiglie	Sarai Glaze	Keeley Smith	Cristen Chandler	Cara Campbell	Leila Oberschall	Briana Bedoya	Emma Wells
Vote	YES	YES	YES	YES	YES	YES	-	YES

VOTE: YES

Notes: Briana Bedoya abstans due to presence on TIATF executive board.